100677

Lengde:267.5cm

Bredde:82cm
Hoyde:63.5cm

100681
Lengde:82cm
Bredde:82cm
Hgyde:33cm

100678
Lengde:79cm
Bredde:46cm
Hegyde:13cm

Eksempler pa kombinasjoner:

=1=I=

100677+100680+100676+100679

100677+100676+100678+100679
Lengde:267.5cm
Bredde:267.5cm

Hoyde:63.5¢cm

100676

Lengde:195.5cm

Bredde:82cm
Hgyde:63.5cm

100679
Lengde:144cm
Bredde:72cm
Hgyde:22cm

100677+100680+100676+100679
Lengde:349cm
Bredde:267.5cm

Hoyde:63.5¢cm

100675
Lengde:92cm
Bredde:82cm
Hoyde:63.5cm

100680
Lengde:82cm
Bredde:82cm
Hoyde:22cm

+100675

Lengde:349cm
Bredde:349cm
Hoyde:63.5cm




100677+10076+100679
Lengde:315cm
Bredde:267.5cm
Hoyde:63.5cm

100676+100681
Lengde:195.5cm
Bredde:164cm
Hoyde:63.5cm

100675+100681
Lengde:92cm
Bredde:164cm
Hoyde:63.5cm

100676+100680
Lengde:315cm
Bredde:195.5cm
Hoyde:63.5cm

100677+100679+100678
Lengde:267.5cm
Bredde:349.5cm
Hoyde:63.5cm

100676+100680+100675

Lengde:315cm
Bredde:195.5cm
Hoyde:63.5cm

100677+100679
Lengde:315cm
Bredde:267.5cm
Hoyde:63.5cm




